Contract No:DH00313

WBS No:15408.1063013

County:Moore

Emergency Pipe Replacement on NC 73 between

SR 1125 and SR 1131

Bid Opening Date: 9/01/2020 at 2:00 PM

						JYMCO CO	NSTRUCTION
				EASTERN ST	RUCTURES LLC		ANY INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$6,300.00	\$6,300.00	\$5,000.00	\$5,000.00
2	Grading	1.00	LS	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00
3	Foundation Conditioning Geotextile Type 3	200.00	SY	\$2.50	\$500.00	\$8.00	\$1,600.00
4	Corrugated Aluminum Pipe Arch 87" X 63" 12 Gauge, 3 x 1 Corrugation	70.00	LF	\$280.00	\$19,600.00	\$325.00	\$22,750.00
5	Class VI Select Material (#57 washed stone)	600.00	TON	\$35.00	\$21,000.00	\$51.00	\$30,600.00
6	Aggregate Base Course	230.00	TON	\$30.00	\$6,900.00	\$45.00	\$10,350.00
7	Asphalt Conc Base Course, TYPE B25.0B, Including Liquid	50.00	TON	\$270.00	\$13,500.00	\$200.00	\$10,000.00
8	Asphalt Conc Surface Course, Type S9.5B, Including Liquid	16.00	TON	\$160.00	\$2,560.00	\$200.00	\$3,200.00
9	Rip Rap, Class II	85.00	TON	\$55.00	\$4,675.00	\$65.00	\$5,525.00
10	Geotextile for Drainage	100.00	SY	\$2.50	\$250.00	\$8.00	\$800.00
11	Diversion Pumping	1.00	EA	\$12,000.00	\$12,000.00	\$11,000.00	\$11,000.00
12	Temporary Traffic Control	1.00	LS	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00
13	Paint Pavement Marking Lines (4")	140.00	LF	\$17.50	\$2,450.00	\$15.00	\$2,100.00
14	Temporary Silt Fence	200.00	LF	\$3.00	\$600.00	\$4.85	\$970.00
15	Matting (Erosion Control)	200.00	SY	\$1.50	\$300.00	\$6.25	\$1,250.00
16	Special Stilling Basin	1.00	EA	\$500.00	\$500.00	\$1,500.00	\$1,500.00
17	Wattle	80.00	LF	\$8.00	\$640.00	\$10.00	\$800.00
18	Seed & Mulching	0.20	AC	\$2,500.00	\$500.00	\$20,000.00	\$4,000.00
					\$122,775.00		\$124,445.00

Bidder No. 1: EASTERN STRUCTURES LLC

Bidder No. 2: JYMCO CONSTRUCTION COMPANY INC

Bidder No. 3: RUFUS YOUNG CONSTRUCTION INC

Bidder No. 4: LYNN THOMAS GRADING INC

Bidder No. 5: SMITH CONTRACTORS, LLC

Bidder No. 6: BAXLEY CORPORATION LLC

Bidder No. 7: CHATHAM CIVIL CONTRACTING LLC

Bidder No. 8: CRUMB CONSTRUCTION LLC

Bidder No. 9: MOUNTAINEER CONTRACTORS INC

Bidder No. 10: COLUMBUS UTILITIES INC

Bidder No. 11: BARNHILL CONTRACTING CO

Bidder No. 12: JSMITH CIVIL LLC

Bidder No. 13: TRIANGLE GRADING & PAVING INC

Bidder No. 14: CAROLINA EARTH MOVERS INC

Bidder No. 15: SANDHILLS CONTRACTORS INC

bid_Tab Page 1 of 8

Contract No:DH00313

WBS No:15408.1063013

County:Moore

Emergency Pipe Replacement on NC 73 between

SR 1125 and SR 1131

Bid Opening Date: 9/01/2020 at 2:00 PM

						Γ	
					YOUNG		
-					ICTION INC		S GRADING INC
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID		AMOUNT BID
1	Mobilization	1.00	LS	\$14,000.00	\$14,000.00	\$7,600.00	\$7,600.00
2	Grading	1.00	LS	\$46,000.00	\$46,000.00	\$47,800.00	\$47,800.00
3	Foundation Conditioning Geotextile Type 3	200.00	SY	\$5.00	\$1,000.00	\$2.00	\$400.00
4	Corrugated Aluminum Pipe Arch 87" X 63" 12 Gauge, 3 x 1 Corrugation	70.00	LF	\$240.00	\$16,800.00	\$375.00	\$26,250.00
5	Class VI Select Material (#57 washed stone)	600.00	TON	\$36.00	\$21,600.00	\$50.00	\$30,000.00
6	Aggregate Base Course	230.00	TON	\$27.00	\$6,210.00	\$37.00	\$8,510.00
7	Asphalt Conc Base Course, TYPE B25.0B, Including Liquid	50.00	TON	\$275.00	\$13,750.00	\$150.00	\$7,500.00
8	Asphalt Conc Surface Course, Type S9.5B, Including Liquid	16.00	TON	\$350.00	\$5,600.00	\$150.00	\$2,400.00
9	Rip Rap, Class II	85.00	TON	\$87.00	\$7,395.00	\$45.00	\$3,825.00
10	Geotextile for Drainage	100.00	SY	\$5.00	\$500.00	\$2.00	\$200.00
11	Diversion Pumping	1.00	EA	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
12	Temporary Traffic Control	1.00	LS	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00
13	Paint Pavement Marking Lines (4")	140.00	LF	\$3.00	\$420.00	\$6.00	\$840.00
14	Temporary Silt Fence	200.00	LF	\$5.00	\$1,000.00	\$3.00	\$600.00
15	Matting (Erosion Control)	200.00	SY	\$5.00	\$1,000.00	\$4.25	\$850.00
16	Special Stilling Basin	1.00	EA	\$500.00	\$500.00	\$600.00	\$600.00
17	Wattle	80.00	LF	\$7.00	\$560.00	\$5.00	\$400.00
18	Seed & Mulching	0.20	AC	\$5,000.00	\$1,000.00	\$3,000.00	\$600.00
					\$149,835.00		\$153,375.00

Bidder No. 1: EASTERN STRUCTURES LLC

Bidder No. 2: JYMCO CONSTRUCTION COMPANY INC

Bidder No. 3: RUFUS YOUNG CONSTRUCTION INC

Bidder No. 4: LYNN THOMAS GRADING INC

Bidder No. 5: SMITH CONTRACTORS, LLC Bidder No. 6: BAXLEY CORPORATION LLC

Bidder No. 7: CHATHAM CIVIL CONTRACTING LLC

Bidder No. 8: CRUMB CONSTRUCTION LLC

Bidder No. 9: MOUNTAINEER CONTRACTORS INC

Bidder No. 10: COLUMBUS UTILITIES INC

Bidder No. 11: BARNHILL CONTRACTING CO

Bidder No. 12: JSMITH CIVIL LLC

Bidder No. 13: TRIANGLE GRADING & PAVING INC Bidder No. 14: CAROLINA EARTH MOVERS INC

Bidder No. 15: SANDHILLS CONTRACTORS INC

bid_Tab Page 2 of 8

Contract No:DH00313

WBS No:15408.1063013

County:Moore

Emergency Pipe Replacement on NC 73 between

SR 1125 and SR 1131

Bid Opening Date: 9/01/2020 at 2:00 PM

	ITEM	OTTANIENT.	I D HTTG		RACTORS, LLC		PORATION LLC
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$22,000.00	\$22,000.00	\$10,000.00	\$10,000.00
2	Grading	1.00	LS	\$33,500.00	\$33,500.00	\$40,000.00	\$40,000.00
3	Foundation Conditioning Geotextile Type 3	200.00	SY	\$6.00	\$1,200.00	\$5.00	\$1,000.00
4	Corrugated Aluminum Pipe Arch 87" X 63" 12 Gauge, 3 x 1 Corrugation	70.00	LF	\$308.00	\$21,560.00	\$340.00	\$23,800.00
5	Class VI Select Material (#57 washed stone)	600.00	TON	\$26.00	\$15,600.00	\$48.00	\$28,800.00
6	Aggregate Base Course	230.00	TON	\$26.00	\$5,980.00	\$45.00	\$10,350.00
/	Asphalt Conc Base Course, TYPE B25.0B, Including Liquid	50.00	TON	\$329.00	\$16,450.00	\$265.00	\$13,250.00
1 X	Asphalt Conc Surface Course, Type S9.5B, Including Liquid	16.00	TON	\$363.00	\$5,808.00	\$410.00	\$6,560.00
9	Rip Rap, Class II	85.00	TON	\$55.00	\$4,675.00	\$65.00	\$5,525.00
10	Geotextile for Drainage	100.00	SY	\$12.00	\$1,200.00	\$5.00	\$500.00
11	Diversion Pumping	1.00	EA	\$13,800.00	\$13,800.00	\$15,000.00	\$15,000.00
12	Temporary Traffic Control	1.00	LS	\$12,500.00	\$12,500.00	\$10,000.00	\$10,000.00
13	Paint Pavement Marking Lines (4")	140.00	LF	\$10.00	\$1,400.00	\$7.50	\$1,050.00
14	Temporary Silt Fence	200.00	LF	\$5.00	\$1,000.00	\$5.00	\$1,000.00
15	Matting (Erosion Control)	200.00	SY	\$5.00	\$1,000.00	\$5.00	\$1,000.00
	Special Stilling Basin	1.00	EA	\$1,000.00	\$1,000.00	\$100.00	\$100.00
17	Wattle	80.00	LF	\$12.00	\$960.00	\$10.00	\$800.00
18	Seed & Mulching	0.20	AC	\$6,000.00	\$1,200.00	\$500.00	\$100.00
\$160,833.00 \$168,835							

Bidder No. 1: EASTERN STRUCTURES LLC

Bidder No. 2: JYMCO CONSTRUCTION COMPANY INC

Bidder No. 3: RUFUS YOUNG CONSTRUCTION INC

Bidder No. 4: LYNN THOMAS GRADING INC Bidder No. 5: SMITH CONTRACTORS, LLC

Bidder No. 6: BAXLEY CORPORATION LLC

Bidder No. 7: CHATHAM CIVIL CONTRACTING LLC

Bidder No. 8: CRUMB CONSTRUCTION LLC

Bidder No. 9: MOUNTAINEER CONTRACTORS INC

Bidder No. 10: COLUMBUS UTILITIES INC

Bidder No. 11: BARNHILL CONTRACTING CO

Bidder No. 12: JSMITH CIVIL LLC

Bidder No. 13: TRIANGLE GRADING & PAVING INC Bidder No. 14: CAROLINA EARTH MOVERS INC Bidder No. 15: SANDHILLS CONTRACTORS INC

bid_Tab Page 3 of 8

Contract No:DH00313

WBS No:15408.1063013

County:Moore

Emergency Pipe Replacement on NC 73 between

SR 1125 and SR 1131

Bid Opening Date: 9/01/2020 at 2:00 PM

				СПУТП	AM CIVIL	DD /	A PHIL	
							B TRUCKING	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID		AMOUNT BID	
1	Mobilization	1.00	LS	\$17,390.00	\$17,390.00	\$32,000.00	\$32,000.00	
2	Grading	1.00	LS	\$20,000.00	\$20,000.00	\$68,000.00	\$68,000.00	
3	Foundation Conditioning Geotextile Type 3	200.00	SY	\$2.00	\$400.00	\$4.50	\$900.00	
4	Corrugated Aluminum Pipe Arch 87" X 63" 12 Gauge, 3 x 1 Corrugation	70.00	LF	\$800.00	\$56,000.00	\$371.00	\$25,970.00	
5	Class VI Select Material (#57 washed stone)	600.00	TON	\$45.00	\$27,000.00	\$33.00	\$19,800.00	
6	Aggregate Base Course	230.00	TON	\$35.00	\$8,050.00	\$30.00	\$6,900.00	
7	Asphalt Conc Base Course, TYPE B25.0B, Including Liquid	50.00	TON	\$300.00	\$15,000.00	\$200.00	\$10,000.00	
8	Asphalt Conc Surface Course, Type S9.5B, Including Liquid	16.00	TON	\$350.00	\$5,600.00	\$200.00	\$3,200.00	
9	Rip Rap, Class II	85.00	TON	\$60.00	\$5,100.00	\$50.00	\$4,250.00	
10	Geotextile for Drainage	100.00	SY	\$5.00	\$500.00	\$4.00	\$400.00	
11	Diversion Pumping	1.00	EA	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	
12	Temporary Traffic Control	1.00	LS	\$6,500.00	\$6,500.00	\$6,000.00	\$6,000.00	
13	Paint Pavement Marking Lines (4")	140.00	LF	\$12.00	\$1,680.00	\$0.75	\$105.00	
14	Temporary Silt Fence	200.00	LF	\$3.00	\$600.00	\$3.00	\$600.00	
15	Matting (Erosion Control)	200.00	SY	\$3.00	\$600.00	\$1.50	\$300.00	
16	Special Stilling Basin	1.00	EA	\$350.00	\$350.00	\$475.00	\$475.00	
17	Wattle	80.00	LF	\$15.00	\$1,200.00	\$28.00	\$2,240.00	
18	Seed & Mulching	0.20	AC	\$5,500.00	\$1,100.00	\$500.00	\$100.00	
					\$173,070.00		\$191,240.00	

Bidder No. 1: EASTERN STRUCTURES LLC

Bidder No. 2: JYMCO CONSTRUCTION COMPANY INC

Bidder No. 3: RUFUS YOUNG CONSTRUCTION INC

Bidder No. 4: LYNN THOMAS GRADING INC

Bidder No. 5: SMITH CONTRACTORS, LLC Bidder No. 6: BAXLEY CORPORATION LLC

Bidder No. 7: CHATHAM CIVIL CONTRACTING LLC

Bidder No. 8: CRUMB CONSTRUCTION LLC

Bidder No. 9: MOUNTAINEER CONTRACTORS INC

Bidder No. 10: COLUMBUS UTILITIES INC

Bidder No. 11: BARNHILL CONTRACTING CO

Bidder No. 12: JSMITH CIVIL LLC

Bidder No. 13: TRIANGLE GRADING & PAVING INC Bidder No. 14: CAROLINA EARTH MOVERS INC Bidder No. 15: SANDHILLS CONTRACTORS INC

bid_Tab Page 4 of 8

Contract No:DH00313

WBS No:15408.1063013

County:Moore

Emergency Pipe Replacement on NC 73 between

SR 1125 and SR 1131

Bid Opening Date: 9/01/2020 at 2:00 PM

	CONTRACTORS INC AND						
_	T				DIARIES		UTILITIES INC
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$10,000.00	\$10,000.00	\$9,500.00	\$9,500.00
2	Grading	1.00	LS	\$47,500.00	\$47,500.00	\$6,500.00	\$6,500.00
3	Foundation Conditioning Geotextile Type 3	200.00	SY	\$2.30	\$460.00	\$12.00	\$2,400.00
4	Corrugated Aluminum Pipe Arch 87" X 63" 12 Gauge, 3 x 1 Corrugation	70.00	LF	\$343.00	\$24,010.00	\$1,264.00	\$88,480.00
5	Class VI Select Material (#57 washed stone)	600.00	TON	\$45.00	\$27,000.00	\$40.50	\$24,300.00
6	Aggregate Base Course	230.00	TON	\$52.00	\$11,960.00	\$40.00	\$9,200.00
7	Asphalt Conc Base Course, TYPE B25.0B, Including Liquid	50.00	TON	\$389.00	\$19,450.00	\$395.00	\$19,750.00
8	Asphalt Conc Surface Course, Type S9.5B, Including Liquid	16.00	TON	\$458.00	\$7,328.00	\$395.00	\$6,320.00
9	Rip Rap, Class II	85.00	TON	\$65.50	\$5,567.50	\$110.00	\$9,350.00
10	Geotextile for Drainage	100.00	SY	\$3.50	\$350.00	\$12.00	\$1,200.00
11	Diversion Pumping	1.00	EA	\$20,000.00	\$20,000.00	\$5,500.00	\$5,500.00
12	Temporary Traffic Control	1.00	LS	\$13,000.00	\$13,000.00	\$6,500.00	\$6,500.00
13	Paint Pavement Marking Lines (4")	140.00	LF	\$0.80	\$112.00	\$4.50	\$630.00
14	Temporary Silt Fence	200.00	LF	\$4.50	\$900.00	\$10.00	\$2,000.00
15	Matting (Erosion Control)	200.00	SY	\$4.00	\$800.00	\$12.00	\$2,400.00
16	Special Stilling Basin	1.00	EA	\$4,300.00	\$4,300.00	\$2,500.00	\$2,500.00
17	Wattle	80.00	LF	\$12.00	\$960.00	\$15.00	\$1,200.00
18	Seed & Mulching	0.20	AC	\$5,600.00	\$1,120.00	\$4,000.00	\$800.00
					\$194,817.50		\$198,530.00

Bidder No. 1: EASTERN STRUCTURES LLC

Bidder No. 2: JYMCO CONSTRUCTION COMPANY INC

Bidder No. 3: RUFUS YOUNG CONSTRUCTION INC

Bidder No. 4: LYNN THOMAS GRADING INC

Bidder No. 5: SMITH CONTRACTORS, LLC

Bidder No. 6: BAXLEY CORPORATION LLC

Bidder No. 7: CHATHAM CIVIL CONTRACTING LLC

Bidder No. 8: CRUMB CONSTRUCTION LLC

Bidder No. 9: MOUNTAINEER CONTRACTORS INC

Bidder No. 10: COLUMBUS UTILITIES INC

Bidder No. 11: BARNHILL CONTRACTING CO

Bidder No. 12: JSMITH CIVIL LLC

Bidder No. 13: TRIANGLE GRADING & PAVING INC Bidder No. 14: CAROLINA EARTH MOVERS INC

Bidder No. 15: SANDHILLS CONTRACTORS INC

bid_Tab Page 5 of 8

Contract No:DH00313

WBS No:15408.1063013

County:Moore

Emergency Pipe Replacement on NC 73 between

SR 1125 and SR 1131

Bid Opening Date: 9/01/2020 at 2:00 PM

				D. D. HHILL CO.		IO OTTU	
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	ONTRACTING CO AMOUNT BID	JSMITH C UNIT PRICE	AMOUNT BID
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Mobilization	1.00	LS	\$11,670.00	\$11,670.00	\$12,036.36	\$12,036.36
2	Grading	1.00	LS	\$63,080.00	\$63,080.00	\$24,306.82	\$24,306.82
3	Foundation Conditioning Geotextile Type 3	200.00	SY	\$11.00	\$2,200.00	\$2.27	\$454.00
4	Corrugated Aluminum Pipe Arch 87" X 63" 12 Gauge, 3 x 1 Corrugation	70.00	LF	\$300.00	\$21,000.00	\$1,785.57	\$124,989.90
5	Class VI Select Material (#57 washed stone)	600.00	TON	\$43.00	\$25,800.00	\$47.05	\$28,230.00
6	Aggregate Base Course	230.00	TON	\$52.00	\$11,960.00	\$28.00	\$6,440.00
7	Asphalt Conc Base Course, TYPE B25.0B, Including Liquid	50.00	TON	\$228.00	\$11,400.00	\$145.33	\$7,266.50
8	Asphalt Conc Surface Course, Type S9.5B, Including Liquid	16.00	TON	\$240.00	\$3,840.00	\$230.96	\$3,695.36
9	Rip Rap, Class II	85.00	TON	\$59.00	\$5,015.00	\$76.94	\$6,539.90
10	Geotextile for Drainage	100.00	SY	\$19.00	\$1,900.00	\$2.84	\$284.00
11	Diversion Pumping	1.00	EA	\$24,000.00	\$24,000.00	\$23,692.74	\$23,692.74
12	Temporary Traffic Control	1.00	LS	\$4,500.00	\$4,500.00	\$5,852.27	\$5,852.27
13	Paint Pavement Marking Lines (4")	140.00	LF	\$9.25	\$1,295.00	\$4.55	\$637.00
14	Temporary Silt Fence	200.00	LF	\$10.10	\$2,020.00	\$9.38	\$1,876.00
15	Matting (Erosion Control)	200.00	SY	\$7.00	\$1,400.00	\$11.59	\$2,318.00
16	Special Stilling Basin	1.00	EA	\$5,500.00	\$5,500.00	\$852.27	\$852.27
17	Wattle	80.00	LF	\$11.50	\$920.00	\$4.43	\$354.40
18	Seed & Mulching	0.20	AC	\$10,000.00	\$2,000.00	\$3,181.82	\$636.36
				·	\$199,500.00		\$250,461.88

Bidder No. 1: EASTERN STRUCTURES LLC

Bidder No. 2: JYMCO CONSTRUCTION COMPANY INC

Bidder No. 3: RUFUS YOUNG CONSTRUCTION INC

Bidder No. 4: LYNN THOMAS GRADING INC

Bidder No. 5: SMITH CONTRACTORS, LLC

Bidder No. 6: BAXLEY CORPORATION LLC

Bidder No. 7: CHATHAM CIVIL CONTRACTING LLC

Bidder No. 8: CRUMB CONSTRUCTION LLC

Bidder No. 9: MOUNTAINEER CONTRACTORS INC

Bidder No. 10: COLUMBUS UTILITIES INC

Bidder No. 11: BARNHILL CONTRACTING CO

Bidder No. 12: JSMITH CIVIL LLC

Bidder No. 13: TRIANGLE GRADING & PAVING INC Bidder No. 14: CAROLINA EARTH MOVERS INC

Bidder No. 15: SANDHILLS CONTRACTORS INC

bid_Tab Page 6 of 8

Contract No:DH00313

WBS No:15408.1063013

County:Moore

Emergency Pipe Replacement on NC 73 between

SR 1125 and SR 1131

Bid Opening Date: 9/01/2020 at 2:00 PM

				TDIANCLE	CDADING %		
		TRIANGLE GRADING & PAVING INC			CAROLINA FA	RTH MOVERS INC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
2	Grading	1.00	LS	\$48,930.00	\$48,930.00	\$60,000.00	\$60,000.00
3	Foundation Conditioning Geotextile Type 3	200.00	SY	\$9.00	\$1,800.00	\$18.50	\$3,700.00
4	Corrugated Aluminum Pipe Arch 87" X 63" 12 Gauge, 3 x 1 Corrugation	70.00	LF	\$530.00	\$37,100.00	\$250.00	\$17,500.00
5	Class VI Select Material (#57 washed stone)	600.00	TON	\$62.00	\$37,200.00	\$85.00	\$51,000.00
6	Aggregate Base Course	230.00	TON	\$54.00	\$12,420.00	\$65.00	\$14,950.00
7	Asphalt Conc Base Course, TYPE B25.0B, Including Liquid	50.00	TON	\$285.00	\$14,250.00	\$155.00	\$7,750.00
8	Asphalt Conc Surface Course, Type S9.5B, Including Liquid	16.00	TON	\$340.00	\$5,440.00	\$218.00	\$3,488.00
9	Rip Rap, Class II	85.00	TON	\$93.99	\$7,989.15	\$125.00	\$10,625.00
10	Geotextile for Drainage	100.00	SY	\$10.00	\$1,000.00	\$27.50	\$2,750.00
11	Diversion Pumping	1.00	EA	\$18,000.00	\$18,000.00	\$17,500.00	\$17,500.00
12	Temporary Traffic Control	1.00	LS	\$6,200.00	\$6,200.00	\$40,000.00	\$40,000.00
13	Paint Pavement Marking Lines (4")	140.00	LF	\$5.00	\$700.00	\$11.55	\$1,617.00
14	Temporary Silt Fence	200.00	LF	\$10.00	\$2,000.00	\$12.00	\$2,400.00
15	Matting (Erosion Control)	200.00	SY	\$9.50	\$1,900.00	\$17.50	\$3,500.00
16	Special Stilling Basin	1.00	EA	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00
17	Wattle	80.00	LF	\$115.00	\$9,200.00	\$18.50	\$1,480.00
18	Seed & Mulching	0.20	AC	\$5,000.00	\$1,000.00	\$12,500.00	\$2,500.00
					\$256,929.15		\$268,260.00

Bidder No. 1: EASTERN STRUCTURES LLC

Bidder No. 2: JYMCO CONSTRUCTION COMPANY INC

Bidder No. 3: RUFUS YOUNG CONSTRUCTION INC

Bidder No. 4: LYNN THOMAS GRADING INC

Bidder No. 5: SMITH CONTRACTORS, LLC

Bidder No. 6: BAXLEY CORPORATION LLC

Bidder No. 7: CHATHAM CIVIL CONTRACTING LLC

Bidder No. 8: CRUMB CONSTRUCTION LLC

Bidder No. 9: MOUNTAINEER CONTRACTORS INC

Bidder No. 10: COLUMBUS UTILITIES INC

Bidder No. 11: BARNHILL CONTRACTING CO

Bidder No. 12: JSMITH CIVIL LLC

Bidder No. 13: TRIANGLE GRADING & PAVING INC Bidder No. 14: CAROLINA EARTH MOVERS INC Bidder No. 15: SANDHILLS CONTRACTORS INC

bid_Tab Page 7 of 8

Contract No:DH00313

WBS No:15408.1063013

County:Moore

Emergency Pipe Replacement on NC 73 between

SR 1125 and SR 1131

Bid Opening Date: 9/01/2020 at 2:00 PM

				SANDHILLS CON	NTRACTORS INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$49,000.00	\$49,000.00
2	Grading	1.00	LS	\$137,410.00	\$137,410.00
3	Foundation Conditioning Geotextile Type 3	200.00	SY	\$21.00	\$4,200.00
4	Corrugated Aluminum Pipe Arch 87" X 63" 12 Gauge, 3 x 1 Corrugation	70.00	LF	\$900.00	\$63,000.00
5	Class VI Select Material (#57 washed stone)	600.00	TON	\$70.00	\$42,000.00
6	Aggregate Base Course	230.00	TON	\$70.00	\$16,100.00
7	Asphalt Conc Base Course, TYPE B25.0B, Including Liquid	50.00	TON	\$345.00	\$17,250.00
8	Asphalt Conc Surface Course, Type S9.5B, Including Liquid	16.00	TON	\$397.00	\$6,352.00
9	Rip Rap, Class II	85.00	TON	\$98.00	\$8,330.00
10	Geotextile for Drainage	100.00	SY	\$3.00	\$300.00
11	Diversion Pumping	1.00	EA	\$76,104.00	\$76,104.00
12	Temporary Traffic Control	1.00	LS	\$57,750.00	\$57,750.00
13	Paint Pavement Marking Lines (4")	140.00	LF	\$7.00	\$980.00
14	Temporary Silt Fence	200.00	LF	\$7.00	\$1,400.00
15	Matting (Erosion Control)	200.00	SY	\$9.00	\$1,800.00
16	Special Stilling Basin	1.00	EA	\$10,745.00	\$10,745.00
17	Wattle	80.00	LF	\$22.00	\$1,760.00
18	Seed & Mulching	0.20	AC	\$10,500.00	\$2,100.00

\$496,581.00

Bidder No. 1: EASTERN STRUCTURES LLC

Bidder No. 2: JYMCO CONSTRUCTION COMPANY INC

Bidder No. 3: RUFUS YOUNG CONSTRUCTION INC

Bidder No. 4: LYNN THOMAS GRADING INC

Bidder No. 5: SMITH CONTRACTORS, LLC Bidder No. 6: BAXLEY CORPORATION LLC

Bidder No. 7: CHATHAM CIVIL CONTRACTING LLC

Bidder No. 8: CRUMB CONSTRUCTION LLC

Bidder No. 9: MOUNTAINEER CONTRACTORS INC

Bidder No. 10: COLUMBUS UTILITIES INC

Bidder No. 11: BARNHILL CONTRACTING CO

Bidder No. 12: JSMITH CIVIL LLC

Bidder No. 13: TRIANGLE GRADING & PAVING INC Bidder No. 14: CAROLINA EARTH MOVERS INC

Bidder No. 15: SANDHILLS CONTRACTORS INC

bid_Tab Page 8 of 8